Accessories for hose connections M16x1

Accessories for hose connections M16x1

3

»
’

Yi

CARLO ERBA1

DASITGROUP




Code Description Packaging

LLG09857153 Accessories for hose connections M16x1, Accessories 3-way Header |1 pz.

LLG09857156 Accessories for hose connections M16x1, Accessories 3-way Valve 1 pz.
System*

LLG09857154 Accessories for hose connections M16x1, Accessories 4-way Header |1 pz.

LLG09857157 Accessories for hose connections M16x1, Accessories 4-way Valve 1 pz.
System*

LLG09857206 Accessories for hose connections M16x1, Accessories 5-way Header |1 pz.

LLG09857207 Accessories for hose connections M16x1, Accessories 5-way Valve 1 pz.
System*

LLG09857150 Accessories for hose connections M16x1, Accessories Adaptor 90° 1 pz.

LLG06264110 Accessories for hose connections M16x1, Accessories Ball valve** 1 pz.

LLG09857151 Accessories for hose connections M16x1, Accessories Ball valve* 1 pz.

LLG09857147 Accessories for hose connections M16x1, Accessories Blank Plug 1 pz.

LLG09857146 Accessories for hose connections M16x1, Accessories Hose connector| 1 pz.
NW 12

LLG09857145 Accessories for hose connections M16x1, Accessories Hose connector| 1 pz.
NW 8

LLG09857149 Accessories for hose connections M16x1, Accessories Micro hose 1 pz.
connector NW 3.2

LLG09857148 Accessories for hose connections M16x1, Accessories Nut 1 pz.

CARLO ERBAW

DASITGROUP




CARLO ERBA

CARLO ERBA1 CARLO ERBA Reagents 5.A.5. ]
Chaussée du Vexin — 27106 Val = Reagents operates with
DASITGROUP oy e .
de Reuil cedex a Certified Quality
N° TVA: FR 63391048824 Management System

Tel : +33(0)2 32 09 20 00
www.carloerbareagents.com




